
YH03-1A YH03-4A

YH03-2A YH03-5A

YH03-3A YH03-6A

X－5

0

-(X－5) = 5－X

-(X－2) + X + 2 = 4

± 2 3 2
    (2  × 3 × 5 )   = ± 1500

1500

3X－1 = 0          X = 

2Y+1 = 0           Y = 

1
3

-1
2

3X－2Y = 1 + 1 = 2 答：2

a = 5        b = -7       c = -2

30 + 14－8 = 6
答：6

3X + 3Y = -3 X = 2

2X－5Y = 19 Y = -3

X－Y = 5
答：±   5

30

30

1 52

12

33 < 3X < 60

5.74 <   3X < 7.75

3X = 6 ， 7

36 ÷ 3 = 12

X = 12

5 + 5 + 16 + 11－1 = 6

3

9 81 ± 3

3

a+b－c

-a+b+c

4，11，16，19，20

-1

0.5

± 18

1000－(31 × 31) = 39

答：39塊

7X－2Y = 17       X = 3

2X+2Y = 10        Y = 2

3 + 6  = 3 答：3

16 ×      + 4 ×      －12 ×9
16

17
4

11
12

= 9 + 17－11 = 15

a = 6，13，22，33

答：4個

3 , 4

2
315 = 3  × 5 × 7

a = 7  ，  b = 5

答：7

97/05/01

2008/09



YH03-1B YH03-4B

YH03-2B YH03-5B

YH03-3B YH03-6B

a

0

-a

2
(1)     (5X－4)   =  5X－4

2
(2)     (5X－4)   =  0

2(2)     (5X－4)   =  -(5X－4) = -5X + 4

± ±6 2 4 3 2 2
   2  × 3  × 5  =     (2  × 3 × 5 )   =  ± 600

6 2 42  × 3  × 5   =   600

2 2
(X－3)   +    (X+3)   =  -(X－3) + X + 3

   = 6

± 20

6

6

a =19 b = 6

X = 18

a = 15        b = 15        c = 36        d = 11

a + b + c + d + 4  =    81  = 9

2X－1 = 0 3Y－1 = 0

X = 1
2

Y = 1
3

6(X+Y) = 5 答：5

a = -8  ，  b = 3       c = -6

答：± 12

2(-8) × 3 × (-6)  =   144  =   12   = 12

X + Y = 2 X = 3

X－Y = 4 Y = -1

9 + (-2) = 7
答：7

‧      X = 5

‧    16        256         ± 4

‧ X = 

‧ 0

‧ 7          ± 

‧ 7

4

-4
9

7
4

96/05/09

2
300－17  = 300－289 =11

答：11塊

X－Y = 3            X = 2

3X+7Y = -1        Y = -1

X－Y  = 3

4 64
196

+ 16289
16

－ 196
81

=      + 17－      =          =168
7

14
9

37
63

1045
 63 

X = 3  ，  12  ，  48  ，27   
共4個

X = 1  ，  Y = 20

X + Y = 21 答：21

45－10X 45－20 = 25

20 =10X

X = 2

答：2

2008/09


